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Py = 10%g(2 + 45in30°) (4 sin 30°) = 294k N
30 1
Py =10%g x 5{2(4 + 4 cos 30°) + 74* x 360 2 4 cos 30° x 3

= 88.0kN, P =./P%+ P2 =1/2942 4 88.02 = 307TkN
88.0

:7:,2 :104,
tana = 2o = 0.2093, = 16°40

pa — pag(0.86 +0.11) = pg — ppg(0.61 — 0.11) — 0.22pg
pa—pp = 0.97pag — 0.5ppg — 0.22p'g

= 998.3¢ x 0.97 — 1025g x 0.5 — 942 x 0.22

= 2.44kPa(0.0248kg f /em?)
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tand =& =220 95 g — 140w
g 981

1
1.2tanf = 0.3m,Q = 1.2 x 0.3 x 5 X 06= 1.108m> = 1081
G = pgQ = 10%g x 0.108 = 1058.4N

Py = pghyA =10%g x 0.3(0.6 x 0.6) = 1.058N

1
Py = pgh,A = 10°g x (5)(0.6 —0.3)(0.6 x 0.6) = 264.8N
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